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ΘΕΜΑ Α  
Α1. α. Λάθος,  

β. Λάθος,  
γ. Σωστό,  
δ. Σωστό,  
ε. Λάθος. 

 
Α2. 1  γ,   

2  α,  
3  στ,  
4  β,  
5  δ. 
  
                      

 
ΘΕΜΑ Β 
Β1. Σχολικό βιβλίο σελίδα  469 
 
Β2. Στο συντονισμό σειράς ισχύει  XL = XC,  άρα 

   2 22 2 2
L C C CZ = X  - X  + R   = X  - X  + R   = R  = R  
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ΘΕΜΑ Γ 
Π

Ζ

U 400 V
 Ι  =  =  = 

Ζ 100 Ω
Γ1. 4 A  
 

γρ Ζ Ι  = 3 Ι  = Γ2. 4 3 A  
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 Z = X  + R   Z  = X  + R   X  = Z  - R   

      X  = Z  - R  = 100  - 60  = 80 Ω

X 80
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Γ3.

0,4 Η

Π γρ S = 3 U Ι  = 3 400 4 3 =    Γ4. 4800 VA  

 

 
ΘΕΜΑ Δ 

C
C

1 1 1
 Χ  =   C =  =  =    ή   

ω C ω Χ 1000 40

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∆1. 0,000025 F 25 μF
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U 60 2
 Ι  =  =   = 2 2 A

R 30

Ι 2 2
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      Ι = 2 2 ημ(1000t)

∆2.
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C Z = X  + R   = 30  + 40   = ∆3. 50 Ω  
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 U  = I X  = 2 40 = 

       U = I Ζ = 2 50 = 
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∆4. 80 V

100 V  


